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Moulder Refractory Level 1

Q) % is required for mould before casting.\%?‘l'l_st q tlﬁ A & fog P MARIHAT
Bl gl

1) Drying \§I3"
2) Heating \BifcT
3) Cooling\@f%‘l’r[

4y All of these\d Tt
Q 2) The colour of soda feldspar is TSt w BT grar %I

1) Blue\HTell
2) White\Hth g
3) Red \dIdT

4) Brown\{XT

Q 3) Commercial firing of refractory is done in \Rthaedt 3t arfoicas Bl k|
S & |

1) Laboratory furnace \TIRTRITET 3—@1
2) Shuttle kiln\ Ted fobedt

3) DD kiln\DD fdre

4) Both (b) & (¢)\@ T TG

Q 4) Mould is manufactured by process.\% 1 fafator uferar gR1 fobar Sirar % I

1) Manual \ﬁﬂ\?ﬁf

2) Throwing\ghg_rf

3) Both (a) & (b)\® TG @ I
4) None of these\é_"l'af q aﬂé Rl

is used for measuring moisture in green body of refractory brick. \Rbaet g_C' CIRIRE ISR
&nﬁ—cn IR < R fo) AT A o

1) Scale\¥hd

2) Weighing balance\?‘lTlTrL

3) Drying oven\gl_{r[ 3

4) Both (b) & (¢)\@ T 7T G

Q 6) Pocelain is a conductor of heat. \tﬁﬁfaq, JHT DI %’I

1) Good \{dTdI
2) Bad \@ATAD
3) Better\SgaR AIA®H

4) None of these\g_"l'af I aﬂé T@
Q7 gives mechanical strength to refactory. \ Y Rthaedt ! ifi® Iﬁlﬁ?ﬁ forerctt % I

1) Quartz\?ﬂéﬁ[

2) Feldspar \RUR
3) Clay\&l

4) Grog\‘;l'\lﬁT

Q 8) Which of the following is a grinding machine ? \ fFaffRa A d e T Ursf= A=fiA %?

1) Ball mill\Sid i
2) Potter s whee\UICX %ﬁﬁ
3) Pug mil\GT T8
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4) None of these\s_"lﬁ I ?ﬁé :|3°r
Q 9) Which one of the following is shaping machine ? \Fofafea A em @ T AT A= % ?

1) Jigger & jolly\[STR Td Siicil
2) Potter s wheel\TTCR &Il

3) Both (a) & (b)\® Td & G
4) None of these\_s':lﬁ | aﬁé Bl

Q 10) is used for loading of refractory during firing \BTART & R Ripaed) &t AfET &
ferg 1 UGN e S 5 |

1) Saggers\w

2) Setters\
3) both (a) & (b)\& T J G
4) None of these\STH I ?ﬁ_g T8l

Q 11) Following measurment is must for any type of mould. \ frddt oft TR & Al & fom H9
AR BIe 5l

1) Dimension\[d@T
2) Viscosity\ ITdT
3) Linear shrinkagem ﬁlﬁ:{

4) None of these\%tlﬁ I 553[% :rEPf
Q 12) Ball Clay is in nature.\&Td & BI Upid Mkl

1) Plastic\WITRC®H
2) Non plastic\I- e
3) Semi-plastic\d Td G G|

4) None of these\STH I aﬂ‘s‘ T8l

Q 13) The temprature measuring device is -\dTUHIT HIU fgargw %—

1) Seger cone AR BH

2) Pyrometer\m
3) both (a) & (b)\& TG J GIA!
4) None of these\3TH J B8 g

Q 14) IS-6 specifiction is for A\IS-6 fafadem & o gra %I
1) Refractory brick\ROpae g_C'

2) Semiconductor\ f
3) Tiles \CT
4) None of these\STH J BIg o1

Q 15) The word ceramic meant for -\ IR g 1 31 %—

1) Dry material \ ][ et

2) Hard material\@& o R TR

3) Burnt material\STelt _§"$: et
4) Both (b) & (¢)\@ TG 7T G

Q 16) Plaster-water ratio is important for \RIRER-UTT BT S{UId & fou

HeayU gl g

1) Strength of mould \TeS B Iﬁl@ﬁ
2) Shrinkage of mould A ﬁlﬁ:{
3) Curing of mould s aq;ﬁﬂ

4) All of these\T Tt
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Q 17) Red brick is made of \ATd 3¢ KRNI

1) MudWE

2) Soil\TEd

3) Clay\al

4) All of these\d Tt

Q 18) Sanitary ware mould is made of e IR A CakEIRGIR

1) Clay\ai
2) Soil\TTgd
3) Plaster of paris\WIRCY A ofey

4) None of these\STH I Eb;]é 8l

Q 19) The word refractory is meant for Repaest Treq &1 3t %"-

1) Hard material\ @SR T

2) Brunt material\STElt _g'g et
3) Soft material\fg Tt

4) All of these\d T

Q 20) Major ingredients of tradition] ceramic are-\UXURTT W%WW ?-

1) Clay\ai
2) Quart2\&TeSl

3) Feldspar \BGIUR
4) All of these\d T+t

Q 21) The following test is required for plaster mould -\WRCX e & forg FgfaRad e &1 sravaddr gidt

1) Mechanical LIEED

2) Thermal\YHd

3) Water absorption\SIcl RERINE
4y All of these\d Tt

Q 22) The main constituent of bottle glass are I BT BT ™ Hucdh ®-

1) Soda\"IST

2) Lime \TAT

3) Silica\R¥feremT

4) All of these\d T+t

Q 23) Which of the following standard followed for refractory in india?\HIRd T fthaest & forg S I AFS
TR f3T Ter g2

1) DIN
2) BIS

3) Both (a) & (b)\& Td W &HI
4) None of these\g_"lﬁ I aﬂ‘é :léT

Q 24) Temperature control in the oil fired furnace is done by adjustment of | \dd gRT A1fera “@ o arga =
FITA_ B FHEI HRb o ST B

1) AiraTg

2) oil\dd

3) Both (a) & (b)\® Td & G
4) None of these\ZTH a’ﬁ—st el

Q 25) Materials which can retain strength above 550 degree centigrade is AHRET S 550 e He 9 Sifdia
¥y g gl 8, 8-
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1) Refractories\RIFGeLISl

2) Ceramics\TRTTHRT

3) Metals\‘iﬂﬂ\?rﬁ

4) None of these\TH I aﬂé Bl

Q 26) Which one of the following is the safety tool ? g ddemar Th YR&7 I 87

1) Hand gloves\mlef
2) Goggles \dRHI

3) Gum boot \TTH §c
4) All of these\d T+t

Q 27) Mould has shelf life \FITS &1 Qe S1a- Bl 8-

1) TRUE\®!

2) FALSENTeTd

3) Partly true\ATRIH ﬂﬁf

4) None of these\STH I ?ﬁé Bl

Q 28) Shrinkage takes place in the refractory body in the form of \Ropaedt aret |
Rrge YA g B

1) Dry shrinkage\ [P ﬁlw
2) Fired shrinkage\tb—l'qé ﬁlw
3) Both (a) & (b)\& T4 T &HI
4) None of these\E:I'af q ﬁ's‘ Rl

Q 29) Which one of the following is not tools for moulder?\ﬁ’ﬁﬁ‘l@ﬁ =k Eﬁ:f I AIEI & ﬁfl'q U ¢l :|€f %?

1) Torson viscometer \eRf fowpier
2) Platinum crucible\@ifeTH EASER]
Wbl

3) Diagonal scal\ i

4) None of these\ZTH J PIg Ta!

Q 30) Mould is of types.\HITS TSR HI T8l

1) One\Udh
2) Three\dH
3) Two\al

4) None of these\g_"l'af I aﬂ‘s‘ :I%)f
Q 31) What is the colour of china clay?\iﬁ:ﬁ ﬁl?[ CaRu | grar %?

1) Grey\+T
2) Black\&hTcll
3) Red \&Tdl
4) White\ &4

% 32) The colour of raw clay is after buming.\tﬁb—lef & IWRId Ht m B - HESIGI
I

1) Same\JHTT

2) Blue\Htdl

3) Almost same \CTHIT JHT
4) Changed\uRafdd

Q 33) Red brick mould is made of AGIGE ‘é‘c’ FIAE AR Eﬁ?ﬂ %I

1) Wood @& a1
2) Plaster of paris\WIRCY 3T ofey
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3) Metal\¥Tq
4) None of these\STH I ?ﬁ_g 8l

Q 34) Roller crusher is used for A aﬂ%nz AR PR BT YA fHar \_TI'IHT%I

1) Mixing\f&or

2) Weighing\

3) Crushing\?ﬁﬁi"[
4) All of these\d T+t

Q 35) Sieve is used for A W%%ﬁ@ﬁawmﬁvmw%l

1) Particle separation \db 0T 3{¢ITT
2) Iron separation \F‘ﬁ_s' ST
3) Water removing \UTHT SfeTT

4) None of these\STH I aﬂ‘s‘ T8l

Q 36) Which of the following is used for working mould making NGB AITE § &b fou fFfafea d
forapT TR faaT ST &2

1) Alpha plaster \3{¢th] WIREX
2) Beta plaster\agfa IR

3) Both (a) & (b)\& Td W aHI
4) None of these\%tlﬁ | aﬁ% Bl

Q 37) Shaping of refractory body is done in Ribaest Tt o Qi T &1 STt %I

1) Press\U

2) Potter s Wheel\tﬁ?ﬁ@a

3) Both (a) & (b)\® TG @ &I
4) None of these\STH I ?ﬁ's‘ R

Q 38) Which of the following are ceramic fabrication processes ? \afafea g ¥ e an U WD BIECaE]
@ ufphang 32

1) Moulding \HIfe&T
2) Pressing\aﬁm

3) Turning\

4) All of these\T T+t

Q 39) Which of the following may be used for mould preparation ? \ AIeS TOR A & fom fRgfafaa ke
forgenT TR o SiTa 82

1) Ball clay\a'\l’a F
2) Fire clay\thTdx ES|
3) Plaster of paris\WIRCX 3TH g

4) None of these\STH I ?ﬁ_g 8l

Q 40) Temperature in the furnace is measured with .\T-Ig:f o qHE I /YT STt %I

1) Optical pyrometer\xﬂT@W msi iR

2) Thermocouple\

3) Segar cone AR B
4) All of these\d T+t

Q 41) Refractory, furnace lining and abrasive for grmdmg is produced by ceramic oxide which contain

TR & fore Ribae, wgt arsfi ¥a usfiia I Siamss gRT SRl STt 8
o g gl

1) Aluminium oxide \UeTHIIH S
2) Cobalt oxide \
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3) Silicon oxide \RifcT® 19 ifaAES
4) None of these\s_"lﬁ I aﬂ‘s‘ :lﬁ

Q 42) Faience pottery has: / ngﬁq &I?f FaN %z

1) red earthenware / €T¢T ﬁf?f & I
2) white glaze / UG RITRI TTHT

3) having designs / IESIESESI

4y all of these / T8 T

Q43) %he furnace used in downdraught beehive brick kiln is: / SIS QIUC CIHECE 1—@ T IUGNT &1 o1 arelt

1) five / O/
2) ten/ QY

3) two / &l

4) seven / IId

Q 44) MKSA sub unit system will not include: / W 30 WIEE ol H g RlIE] '_‘|T:-?f EﬁTIT:
1) length / SEIE]

2) temperature / dTIH
3) mass / SSIHIT
4) time / FHY

Q 45) Refractory Ceramic Fibres are used in reformer furnaces under regular operations, where temperature is

more tha%/mw PIseR fafid TareH & dgd GURS Hiedl § S9Nt fsan ST 8, STet araw=
|

1) 500°C / 500 f&7f AfRTaw
2) 1500°C / 1500 f&3ft Ao
3) 800°C / 800 fSot A
4) 100°C / 100 F&I Ao

Q 46) Volume of a cone can be obtained by taking cylinder volume have: / AT ST AR A IR Uh "-‘21@ CHRIEN
TS 1 Sff Feel] © ol B

1) similar base / JHIT YR

2) different base / 3¢ JHTYR

3) half of base / JHTHYR bT JHTYUT

4) both similar and different base / JHI 3R 3T 3MUR K]

Q 47) Which among the following are interrelated in extrusion process? / YRGSl ufpar # Fufiaa d Y oA
TRER UG 52

1) size / 3THR

2) ratio / STUTd

3) tongue ratio / €I 3{UTd
4y all of these / T8 T

Q 48)%111 furnace, fire brick saw is used for cutting: /g ff, 3 _scE' T BT ITAT W Carckca ﬁ'l'q foar
SIdl &:

1) blanket / ad

2) thin materials / BRRIRSIED]

3) compressed blocks / H'Cﬁ'%ﬁ e
4) all of these / TG THI

Q 49) Edge runner mill is not good as it lead to: /me S q@“}% a@rﬁm‘s’ DT HUT ddT %I

1) generate fine particles / TRIP HU I B
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2) rigidity / HARAT
3) high noise / 3HfIPH TR
4) all of these / I8 Tt

Q 50) Usi%g T-square, what type of lines can be drawn? / - PTIR BT 3T W, g TR 3 Y@e Wi
S b il 82

1) horizontal / RIGE]

2) vertical / Ai§dd

3) both horizontal and vertical / &faet oiR daad gHt
4) circular / AR

Q 51) Earthenware at high temperature lead to more: / 3= dTUHIT IR ﬁl?f & A HUF I S

1) brightness / IHDH

2) hardness / Iﬁl@

3) dense / HYq
4) both brightness and hardness / JTH®H 3R W G|

Q 52) De-airing Pugmill has nose cone which uses: / S1-ugiRaT W o A Q]@ % ST ST el %z

1) Plastic blades | TR &I
2) Copper blades / PTUR =S

3) Aluminium blades / TR0 &S
4) All of these / T8 T

Q 53) Bricks are prepared using: / T IYINT R s“a B qIR forar srar %:

1) clay / [ECEl ﬁl?[

2) feldspathic fluxes / P Wiie ey
3) quartzous sands / miﬁ

4) all of these / Ig Tt

Q 54) Tensile and compressive forces are related to: / d=ddl 3R Hfﬁ?;:f ol 3 deferd %I

1) stress / d-1d
2) strain /

3) both stress and strain / dTd 3R Refama gt
4) none of these / Y 553[% Tal

Q 55) The vibrations in Vibratory Screen be obtained using: / Engéa“r WA B BT TN Hb T
[CRIEIEICH Y

1) inclined plane / @ G_QC qdeg
2) frame / ST

3) springs / &

4) flywheel / bl

Q 56) Quartz mineral comprises of: / WI_{\_ST @ § 2fia %

1) silicon / RfeIpIA
2) oxygen / SieRiTe

3) aluminum / {cGHITH
4) both silicon and oxygen / fferepia 3R SffaRfier gt

Q 57) For generating numbers, which mode of operation, does a scientific calculator use? / AT ITH HHD
fore, afe (@rsfefihe) Fagaey SRRM & B I qid (T1S) BT ITIRT HT 82

1) COMP

2) STAT

3) TABLE
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4) CALC

Q 58) In order to avoid torsion, toggle press uses: / TR eI & 1%111, USRS BT UGN Hxal %I

1) round ram / RRECRe]

2) square ram / W

3) both round and square ram / IS W 3R W= ¥ gl

4) neither round nor square ram / = a m%ﬁ 3‘ﬁ? - 6°r @W%ﬁ

Q 59) The melting point of glucose is: /‘@\_ﬂ 1 fgeq &1 ﬁ@ %z

1) 150°C
2) 105°C
3) 185°C
4)288°C

Q 60) Which among the following belt type is used for longer distances? K]l @ CANMEEINIEREE K DY
IeT & UHR BT SUINT fobal SITelT 82

1) Flat belt / TaIE ST
2) V-belt / AT e
3) Timing belt / TS Se

4) Tape / e

Q 61) The temperature for good firing terracottas is around: / 3w BRAIRT CRIBICH & 1w aroy= &
KISEIE]

1) 1500°C / 1500 T3 Sf’RET
2) 1200°C / 1200 TSt Tf’d
3) 800°C / 800 TST VfR@T

4) 2000°C / 2000 TSIt TfRd

Q 62) In extrusion press, front and back platens are held by: / ET:}EQW PR ﬁ, I 3R did & wed
GRT SR fou STt €

1) four tie rods / AR E'I_st s
2) two tie rods /E«Pf ETQF s

3) three tie rods iG] E'I_sc TT_S
4) five tie rods / UTd E'I_Sc NS

Q 63) Which is the line having alternate long and short dashes with equal spaced where long dash are there at both

%nds called?/ﬁ@@%ﬁﬂﬁﬂﬁ—ﬂﬁﬁ ﬁ@ﬂ%%wm%mu,waﬁﬁﬁwaﬁ%m
?

1) Center lines / %%@TQ

2) Visible Lines / T @Tq
3) Hidden Lines /ﬁé‘tﬂwq

4) Extension Lines / ﬁw%&m

Q 64) In our body, if temperature increases by 100 degrees, mercury on the temperature scale will show: / fﬂzlﬁ'

TRR A, afe amEm 100 {3 AR sgdr 8, O Ao Wd R URT e

1) 100°
2) 150°
3) 50°
4) 125°

Q 65) The capacity for production of stoppers, round or square runners needs: / E'\fqﬁ, 3SR TR B
TG & T SfTaRae &l &:

1) 10 tonnes capacity / 10 - &HdT
2) 20 tonnes capacity / 20 - &HdT
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3) 100 tonnes capacity / 100 < &HdT
4) both 10 tonnes and 20 tonnes capacity / 10 € 3R 20 TF a1 Sl

Q 66) Jaw Crusher is not used for crushing of: / ST SPER BT IUINT ® BRATH ]%‘I'E qﬁmm %I

1) soft material / HeITIH et
2) medium hard material / H&H CARREILY]
3) hard material / P qrht
4) tough material / ¥ Ut

Q 67) What is 62.5% of a fraction? / 62.5% T eI T 82

1) 25/47
2) 13/14
3) 16-May
4)15/27

Q 68?); The rupture quality in china clay is described by: / CiGl ﬁl?[ | _Q\'E%f Gl Buckslcal gufq W ar1 fan
Tl &:

1) Casting Rate / PILET R
2) Particle size / DU HTHR

3) Green MOR / UH AR
4) Plasticity / c-IRII<Id

Q 69) Find the resistance in a lamp, if 5A of current flows through 250V lamp? / Tdh g o7 UfeR ﬂ@, AR 5A
FC TS 250V AT & T J I8 87

1) 5 ohms

2) 250 ohms
3) 50 ohms
4) 1250 ohms

Q 70) Which among the following figures have no four sides at right angles? / BEINERE R AR 31'@1%[ o

1) Rectangle / 3{Tdd

2) Square / it

3) Rhombus / fqSHeI0T
4) both square and rhombus / it 3R fawwap I

Q 71) In a refractory, moulder has to take care about: / Uch Rhaest (m T, AR (ﬂﬁ o S'Iﬁei?ﬂ?ﬂ) Gl
T 1 BT

1) Types of kilns / q—l’@ﬁf & UBR
2) Fabrication process / Hivm ufesar

3) casting and pressing process / HIRET 3R TaH &1 ufehar
4) Injuries / 91 A & °ge Y

Q 72) Metallic elements are: / ‘iﬂﬂaa%

1) Malleable / ST

2) Brittle / T
3) Hard / &

4) Soft / HllgH
Q 73) Which among the following is not an insulator? / ﬁ'{?lﬁi@ﬁ e ?ﬁ:f T Uh ﬁmﬁﬁ '_‘@T %?

1) paper / PITS
2) plastic / WIReHh
3) rubber / Ydg
4) copper / GIE
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Q 74) Which is correct in case of non-ferrous metals? / R-dg ‘Eﬂﬂ\’rh & A H S I HY gl 82

1) contains iron content / Fﬁ’s’ et =i %
2) magnetic / W

3) resistant to corrosion / ST wifeRelt

4) all of these / g qaft

Q 75) In ball mills, raw materials used for wet grinding includes: / CIRAENI ﬁ, dc Y 2 Sk ﬁm JUIRT B S
aTelt it el o 2 g

1) iron ore / 8T 3D (GT\IJT)

2) gold/copper ore /T i 3RS (GTT?)
3) nickel ore / od s (\317?)

4) all of these / U5 Tt

Q 76) Density is not related to object’s: / dTcd d¥ & Y gefda ﬁ%l
1) height / $aT8

2) width / ASTS
3) length / aTS

4) type / UPRR
Q 77) Set squares can draw lines in degrees like: / Te W fsh | NIER] CARCIERSE! % Y P

1) 30
2) 45
3) 60
4) all of these / T8 T

Q 78) Pipe is an example of: / UTSU SHPHT 3qIeRU %:

1) Cube / TH&T

2) Cylinder / ISNER
3) Cuboids / YTH
4) Cone / W

Q 79) The purpose of the ring dryer is to: Acul SR D] BQQCI %z

1) grinds the product / 3cdTg URGHT

2) recycles the product / 3T T Y-: JYGNT HAT
3) removes moisture content / T O A BT g
4y all of these / T8 T

Q 80) The length of tunnel kiln are around: / ﬁT‘T '1-@ Pl ﬂiﬂ's‘ & AT %I

1) 150 feet / 150 I
2) 300 feet / 300 BIC
3) 80 feet / 80 OIC

4) 100 feet / 100 BIC

Q 81) Employee State Insurance Act was in the year / HHART Ao AT SffTy oy T 7|

1) 1948
2) 195

3) 1961
4) 1965

Q 82) For making connections in your career, the social media site includes: / A HRIR & HaRH - &
ferg, dierer wifgan Arge & i &

1) LinkedIn / fiidega
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2) YouTube / YR
3) Twitter / EEQ
4) Instagram / SXCTITH

Q 83) Tile press comprises of aluminium floor plates. / CITA Rk Wﬁm AR
wicy e €|

1) one / Uh
2) two / al
3) three IkSis]
4) four / IR

Q 84) There are congruent circles with congruent radii inside a circle. / T Thd & 3R
TG (H1Y3re) Bear & aqry Faf Y (B1Y3<) Thd & |

1) two / al

2) ten/ QY

3) eight / 3T

4) infinite / AR

Q 85) The carbon content in cast iron is: / Pl ?ﬁ% T HTe G %z

1) 5%
2) 2%
3) 15%
4) 27%

Q 86) Which is incorrect in case of ball clay? / T 7 P A T I T HYF 7T 82

1) high water absorption after firing / BRI & §1G 3HfU® ST SaRNTT

2) more percentage of dry Shrinkage / {[&P Heple &1 i ufawra

3) slow drying time / effet Tifr ﬁ'@'lef HI HHY

4) should be tested for colour when concentrated / m Eﬁﬁ WRITFH T%“I'Q TRYeqor fopar ST EIT%Q

Q 87) Entrepreneurship is not related to: / I (G‘H'_;\rq:lﬁf% Y deferd T‘|_6Qf%|

1) service /Far
2) business / IR
3) marketing / fqQUM

4) production / 3MUIG

Q 88) Housekeeping at workplace will not involve | HTIRE TR ATH-TWhTs (E'Bﬁ'ﬁﬁ'rf) |
RIESEN U

1) cleaning of floors and surfaces / B 3R qdgl & HCFIEF

2) removing of dust / YT 5T
3) organizing clutter / 3R] BT SIS
4) managing accounts / QT BT Jae

%z 89) Feldspars does not contain melter oxides of /T e@@R P Hee? GRS M Tal

1) sodium / FifSTH
2) potassium / qrefmy
3) nitrogen / - 3?; ol

4) calcium /

Q 90) The part in Jaw Crusher which forms the moving side of jaw is: / S IR o1 98 o1 St Sif T 7o
RIS I/

1) Fixed Jaw Face / Ff3d S
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2) Input Shaft / TYc RIMUC
3) Pitman / T H B Hare (Red)
4) Toggle Plate / CIC] @i

Q 91) Workbook is a part of program. / W@W, PHH BT % = %I

1) MS Word / TH U9 I8

2) MS PowerPoint / TH T qfaTQT_S'E
3) MS Excel / TH TH Tqd

4) MS Paint / TH T Ue

Q 92) The article that describes workers participation in management is: / US& T R} @t yrlier &1
o R aTaT oRa -

1) Article 43A / 3G 43 T
2) Article 40 / TG 40
3) Article 21 / 3I®¢ 21
4) Article 54 / TG 54

Q 93) In ceramic material, bonding of atoms together is stronger in / R Il ﬁ, o
TRHATUHT BT T GER b 1Y S HOId BIell 5 |

1) ionic / 3TAM®

2) covalent / BRESEINED

3) metallic / YT T

4) ionic and covalent / M 3N WW

Q 94) In Ball mill, the source of feed for secondary grinding application is not: / ol e ﬁ,

ey Ty v & o wie &1 i el 3

1) Crusher / PRR

2) Rod mills / 318 e

3) AG mills / Toit e

4) SAG mills / THUSH Are

Q 95) Which letter is used to spell vowels? / TR T ITRUN DR & fod {6 g 31eR BT IUTIT a1 Sra 32

A
2)B
3)C
4)D

Q 96) Foam Fire Extinguishing System will not have /BT AR SgaRT H Tl g

1) air source / gdl DI ard

2) Water Source / SIcl ard

3) Air Foam Concentrate / TIX HIg ﬁé\?
4) Foam Maker / B §14 ara

Q 97) Young s modulus measures stiffness of elastic material for: / g 'J:IU'IEEE‘IF, & ﬁ'l'q s?ﬂf%a?
It ) HSRAT Bl AU B

1) Solid / 91

2) Powder / UT3SX

3) Liquid / dXdl

4) Solid and powder / 9 IR UER

Q 98) Which statement is correct? / DI I HYT el 82

1) Saggar is light AR §edhl %
2) kiln shelves have more weight / 7—@ [SIECILY H 31 goi 6 dl %
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3) saggar and kiln shelves occupies same space / R 3R ﬂ-|§°r dRATU Udh JHT Sli e Sl %
4) Sa%ggar occupies more space than same weight kiln shelve / JHIT duld areft 5—@ Edl B T YR 3T STE
o

Q 99) Which one of the following is a property of circle? / 3Td afRfer @d) & &0 b SR H 4 Jrad %?

1) Perpendicular to the chord passing through its center will bisect the Chord. / QP el oIk I Hie &
Tiead PIS Pl BIC M|

2) Diameter is the shortest chord of the circle. / ST g Dl I BleT AR g |

3) Chords equidistant from the center of circle differs in length. / T&Hd & g I A @ ara EFI\%F FITYITEE |
[BERI

4) An angle inscribed in a Semi-circle is a triangle. / 3{ ﬁ—@?‘f T ISP BT Th ﬁ'ﬂ\_ﬂ BT gl

Q 100) tool is used for forming, trimming or decorating of ceramic piece. / Rfie & m Cal EFTI%L
for & a1 9o & forg JUHN HT FUTNT {1 S 21

1) Heron Hole Cutter Tool / B 8Id PHex STDRN

2) Heron Wooden Potter s Rib / %?_"f qs- e R

3) Heron Handheld Roller / 83 88368 IR

4) Wooden Modelling Tool / AHS! BT ST SUHRUT

Q 101) Calculate 50 percent of 35 ./35 & 50 TTI=Td DI MO B |

1)10.5
2) 14.25
3)17.5
4)21.25

Q 102) For obtaining money from the bank, you will not require___/ dF AW U HRA B fam, 3T
B AHTTIDH T Tal grn|

1) Cheque book / EEd qh
2) Debit card / ST ®T1S

3) Pass book / UTHgdH
4) Withdrawal Slip / A9} (fageTare) u=if

Q 103) For change the content of clay in pug mill, is/are added. / O @ & ﬁl?[ D AR BT TG
Ffm,_ eSS/ SRl

1) grog / I

2) sand /d

3) sand and grog /X 3R AT
4) sand and lime / 3T 3R AT

Q 104) opening of jaws determines the size of jaw crusher./ ST Gﬁ'cl'ﬁ"'l, Sl
PRR BT AHTHR FYiRd Bl 5

1) rectangular / 3TIdIHRR

2) square /

3) square and rectangular / PR AR ATABR

4) neither square nor rectangular / - PHR AR 7§ MIATHR

Q 105) Refractory drier takes total drying time for drying a material. / U TR & ﬁ’v’@ﬂﬁ &
1) 50 hrs / 50 &<

2) 350 hrs / 350 ©¢

3) 200 hrs / 200 ©¢

4) 100 hrs / 100 ©<

Q 106) Which statement is correct for parallel lines? / JUMR @137 & f%nz B AT HYT ﬂﬁf %‘?
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1) should not in same plane / T _Eﬁ Yde o '_‘@jf a:ﬁ T:l'l'%'q
2) should have different slope / T gl le:ﬂzm%'q

3) should meet at a point / T ﬁ?\.‘z R et anfge
4) can be horizontal and vertical / aﬁlﬁf 3'ﬁ? FeaR E?f RGN %

Q 107) In refractory, fire detection can be: / 3Ugds ﬁ, Y 31T T Tl T FhaT 5 |

1) Smoke detectors / Y& W (%%?E?)
2) Heat detectors / 38T IA® (FScaR)

3) Flame detectors / SaTcl AYAD ( SCaW)
4) all of these / T aft

Q 108) While firing of ceramics, the coarse-grained product is achieved in /AT ﬁl@ P ISl DI BRI
R THY, G GHGR IATG U o ST 6 |

1) Long Firing Time / e BT & TG

2) Intermediate Firing Time / H&H BRI &1 90

3) Short Firing Time / ®H BTN &1 90

4) Both long firing time and intermediate firing time / Tal BRI THY 3R FH BRI 5T g1

Q 109) In a crank, the number of similar plates that are arranged tightly w111 not be more than___ /UdH EXg 'af,

UM @ R e IarRUd Rpal STl © Ias) T 31 8 grht|

1)20
2)5
3) 10
4)6

Q 110) Simplify the ratio 1/3 : 1/8 : 1/6? / ﬂmﬁ ST &1¢ 1/3: 1/8: 1/6?

1) ratio 4:8:3
2) ratio 8:3:4
3) ratio 4:8:4
4) ratio 8:3:8

Q 111) In refractory area, fire alarm system could be: / 3Yadd & T, BRR S Red Hl
qHA g

1) automatic / E=EIING]

2) manual / ﬁﬂﬁﬁf

3) automatic and manual / ST 3R ﬁﬂ\?ﬁ

4) neither automatic nor manual / - _E:D[ IgTferd GhT - Ep[ ﬁﬁ\?’ﬂ

Q 112) The atoms responsible for making Quartz material are: / ﬁﬂéﬁ R a9 & fog fSeR URHIY] g

1) silicon / ffeI®IA

2) oxygen / Sfffto

3) silicon and oxygen / IBINEIEEREICSISE]
4) hydrogen and silicon / EE@GH 3R Raferpta

Q 113) The area of rectangle: / ST PI RENE
1) % xbxh

2)1xb

3) Ya(atb) x h

4)b+h

Q 114) In refractory, the automatic fire alarm system gets activated by: / 3Ugdh 'Ef’ TaTiord HTAR 3
JuTeR, S99 9 forsics gRT |fohd B STt 82

l)heat/TITﬁ
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2) manual call points / ﬁﬂ\’rla PId b
3) smoke / Y31
4) all of these / I8 Tt

Q 115) Maximum temperature of drying of waste heat in refractory drier is: / NGt SRR T 3Ry (aE’) f
& WA BT 3R A 3

1) 4500°C
2) 3500°C
3) 1250°C
4) 2500°C

Q 116) Views in orthographic projection are: / fffnfthes doieeH & =29 81d &:

1) front / HH

2) top / U

3) side / U&

4) all of these / g qaft

Q 117) In refractor, will have the option, not to attend the fire drill program. / 3Yadd T PRR %FT
FEFATUMAMW ST S fapeagrm

1) operators / BIEEINED
2) working people / BB AT
3) outsiders /aﬁﬁ A

4) managers / US4

Q 118) In heat transfer, results in mixing of fluid. / TTHf gdaRoT ﬁ, & gRumT W3y
R uerd o1 fAgyor g g |

1) conduction / Udlgehtd
2) convection / Hdg-
3) radiation / fafe=or

4) evaporation / IR ER]
Q 119) Metals does not exhibit colour. / m{{q T PRI EI_Q"Qﬁ 7‘@3{ B % I

1) shiny / IHDH QR
2) silver grey / TJHPB AT aleT
3) blue / AId

4) white / %G

Q 120) If more saggar firing is done on ceramics, the material will not tend to loose its: / gfe RRfire W sifde
R T 1 A 8, 3 T S ST eI @t

1) colour / T

2) shinning / dHH GR

3) carbon content / HIa IrEh
4) shape / PR

Q 121) For connecting with people across the world, you need an internet which works using: @ﬁ’cﬂ R P AN

3 T T[S  RIT, AU Sexe FT oed Bl & o S0 Q b BT SUTN b B Bl 37

1) Computer / W
2) Modem / HIGH

3) ISP / TSI

4) all of these / U5 Tt

Q 122) In MS Word software, you cannot do: /@Wﬂé HTCIE%CIT'E[, A1 ﬁaﬁ b |
1) typing / €I g
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2) drawing / ICEEI]
3) designing / SSIERKCEIR
4) cut and paste / h< R U

Q 123) Which among the following is not the base unit of M.K.S System? / fFafafea d T wA THHTY
JUITH 1 SMUR SPTS Tol 62

1) foot / pC

2) meter /

3) kilogram / for@roma

4) second / TP

Q 124) In engineering drawing, can be fixed on drawing board and is used for sketching lines. /

o . 9 n C 5

ST ST H, D SR aS W T a1 o Thdl § SR TATeH WhieiT & o IuanT fbar

AT E |

1) Protractor / ATGT (ﬁw

2) Drafter / TIREU® (SUCR)

3) Set Squares /‘Iﬁtﬂ (@’C’@T{)

4) Compass / ax Ydh JF (hHY)

ILevel 1 Answer key

Question . Question . Question . Question . Question .
No. Option No. Option No. Option No. Option No. Option
1 1 31 4 61 3 91 3 121 4
2 2 32 4 62 1 92 1 122 3
3 4 33 1 63 1 93 4 123 1
4 1 34 3 64 3 94 1 124 2
5 4 35 1 65 4 95 1
6 2 36 2 66 1 96 1
7 1 37 1 67 3 97 4
8 1 38 4 68 3 98 3
9 3 39 3 69 3 99 1
10 3 40 4 70 3 100 2
11 1 41 1 71 4 101 3
12 1 42 4 72 1 102 3
13 3 43 2 73 4 103 3
14 1 44 2 74 3 104 3
15 4 45 2 75 4 105 3
16 4 46 1 76 4 106 4
17 3 47 4 77 4 107 4
18 3 48 3 78 2 108 1
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19 2 49 3 79 4 109 1
20 4 50 3 80 2 110 2
21 3 51 4 81 1 111 3
22 4 52 3 82 1 112 3
23 2 53 4 83 3 113 2
24 3 54 3 84 4 114 4
25 1 55 4 85 1 115 4
26 4 56 4 86 3 116 4
27 1 57 3 87 1 117 3
28 3 58 3 88 4 118 2
29 4 59 1 89 3 119 3
30 3 60 1 90 3 120 4

Moulder Refractory Level 2

Q) %imension of Refractory brick is measured by MRpaed g_c' CHRCEI] R ATl
G -

1) Scale\¥hd

2) Protector\HTCdex

3) Both (a) & (b)\® TG @ &l
4) None of these\STH I ﬁ's‘ Rl

Q 2) Refractory is made of clay only A\Rpae Faa & 9 CEIF} ST %—

1) True el

2) False\Teld

3) Partially True\3{ITR1® Tal

4) None of these\stlﬁ ﬁ aﬂ% :rEPf

Q 3) Mother mould is not same as working mould -\HGX Iﬁ?s’, g1 Hieg ST :lﬁf?l?ﬂ %—

1) TRUE \9g!
2) FALSEVTAd
3) Partly true\ 3RS ﬂa

4) None of these\STH I ?ﬁ_g T8l

Q 4) The colour of plaster of paris mould is \ERER 3Tt AR HYes BT 3T grar %I

1) Blue\FTdl
2) Black\&hTell
3) White\d

4) None of these\stlﬁ I aﬂ% :rEPf
Q 5) Porcelain cannot conduct ORIt BBEISEERED @T‘IT %I

1) Heating \3®HT

2) Electricity\ﬁ?{ﬂﬁ
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3) Both (a) & (b)\® TG F GIHI
4) None of these\s_"lﬁ I aﬂ‘s‘ :lﬁ

Q 6) Magnetic separator is used to remove from body mix.\Sle! [T 9 AT & fag
Tfew JuReR 1 RN T S 2|

1) Airarg
2) Water\aT=1
3) Iron particle\k_"ﬁTs' )

4) None of these\stlﬁ I aﬂ% TEFT
Q 7) Blunger is used for of slip.\%% %ﬁmfwmmﬂﬂmm%l

1) Aging\U Sf
2) Separation of iron particles \Fﬁ_s' PHUT 3T B
3) Mixing\ '

4) None of these\STH I ?ﬁ_g 8l

QY is used for manufacturing of plaster of paris \WIRCX 3Tt Ui &1 fafm &= &
fog &1 YT fobdT STl 3

1) QuartzZ\®Te
2) Gypsum\
3) Clay\&

4) None of these\3TH J B8 g

Q9 Which%of the following is used for drying of mould ? \ A ﬁ'@ﬁ & fom fFgfafaa T 3 fordent uamT
fopa ST 82

1) Flue gas \tﬁﬁg

2) Hot air from regenerator ReReT d A 'dl
3) Both (a) & (b)\® T& @ &l

4) None of these\E_"I'af I aﬂ‘s‘ T‘|?3f

Q 10) For getting the sound on your speaker, your computer should have: / 30 TR TR G U - &
forg, amuds Hugex o g1 Al

1) data card / A DS

2) sound card / 913S PIS

3) network card / Jead BTS
4) PCI card / UT13Ms 18

Q 11) Which among the ceramic forming processes is not traditional? / R 391 3t ufparst & Y o It
UfehaT URURS el 82

1) die pressing / IR ORfT

2) cold isostatic pressing / BITS JmEaRefes aR
3) slip casting / ey P

4) injection moulding / 3@33217‘[ miET

Q 12) In jigger wheel, finishing can be done using: / SR @_Q;‘aﬁﬁ, o fAfRI (CI'R"WD CIReLRIN
I a1 o g g |

1) chuck / I®

2) plastic clay / WIReHh &IEQT
3) sand / Xd

4) all of these / T8 T

Q 13) For clear view of your printing document, you press button. / 39 ffET TeaTd & WY
& & fom, s §e ga|
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1) save / g

2) print / flic

3) print preview / fiic Eﬁal

4) none of these / 3_'1'3[ 3 aﬂé Rl

Q 14) Which among the following are the principles of Human Relations? / fafafea & 9 o9 3 A9 Ieei &
-

1) empowering employee / HHARY GRGAHIT

2) support with counseling / R & Ty ggda

3) giving healthy work-life balance / ¥I¥f HTd-Shtad W Goll
4) all of these / T8 T

Q 15) High fire glazes are fired at cone: / T TR 8T8 B oIS Usaferd fahg ST %

1) 04-06-2018 / 04 S
2) 10-09-2018 / 10 -RydeR
3) 06-04-2018 / 06 - 30

4) none of these / 3_'1'3[ I aﬂé :I%}f
Q 16) Kiln furniture will not include: / Hg! W-iraR & M 761 GITI:
1) shelves / ST

2) saggers /
3) setters /
4) pipes / Ul

Q 17) Jigger machine has spinning wheelhead that holds: / SR A=A # Eh_cl'l'iF CANES] % S YT %;

1) plaster of parts moulds / T & T BT @R

2) movable arm / ENRRINEIN

3) both plaster of parts moulds and movable arm / U & Wi BT @R 3R Fa-<id qig gl
4) neitheranorb/a 3R b ﬁﬂﬁ

Q 18) Low-fire glazes are fired in between the range: / 29 T & o A A-BRR ‘a\_ﬂ Qﬁﬁfq ﬁ‘TQ STd %

1) 1,623° F and 2,048° F / 1,623° F 3fI 2,048° F

2)2,167° F and 2,264° F / 2,167° F 3R 2,264° F

3) 2,305° F and 2,530° F / 2,305° F 3R 2,530° F

4) both (2,167° F and 2,264° F) and (2,305° F and 2,530° F) / @I (2,167° F 3R 2,264° F) 3R (2,305° F 3R
2,530° F)

Q 19) To form long product, ceramic paste in extrusion press is passed through: / KERRIFCRISE:D ﬁ‘l'q,
TS U9 H R Ue Y oRdT 5

1) Die / S1%

2) Ram /¥H

3) plate /wie

4) Die and Ram / 8Ig GﬁT\i—q

Q 20) Which hazardous material is responsible in difficult breathing at ceramics site? / e qrgc R 99 5Bl
H B3R & fou 1 F W anf foer 82

1) copper / GIEL
2) zinc / ST
3) lead / OIS

4) coal / P

Q 21) Which among the following is not a secondary gyratory crusher? / fFofafea @ o= UH
TReERyH) HER T8 82
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1) Jaw crusher / ST IR

2) Cone Crusher / B $HRR

3) Roll Crusher / 3 R

4) Impact Crusher / UHId (siflaa HhRR

Q 22) In ceramic mold casting, pattern is made from: / R diee w1feT ff, Yo forad FIRERIRIEIGIH %?

1) plaster / WIRCX
2) plastic /

3) wood / AHSI
4y all of these / T8 T

Q 23) Potters uses periodic kilns that are fired once: / PR 3afeid H@'q}[ BT UGN Hd % S Uh dR
B TR SIS ST & |

1) red hot / ¢Iel TRHA
2) cooled / RSl

3) shaped / SHTHPR BT
4) shapeless / fRIPR

Q 24) With spinning wheel head in Jigger machine, you can mould the: / R =i o fgf= %ﬁﬁ %TS' & Y,
g &1 HITS P Thd g |

1) clay / R+t foret
2) sand / 3d

3) plaster / WX
4) keolin / B3

Q 25) The enamel coating of Vitreous china is: /ﬁﬁ;ﬂﬂ A ﬁl@ CARGRE:D] Eﬁ'ﬁlﬁ P %I

1) glass based / T TR
2) metal based / YT 3T TR
3) wooden based / Fﬂv_éﬁ SYTRa
4) plastic based / WiRed uTRa

Q 26) Plaster of Paris does not contain: / I 3 ufvg | RlUIE] ﬁ%l

1) calcined gypsum / W o
2) sand / Xd
3) water / =

4) clay / =it firgt
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ILevel 2 Answer key
Question No. | Option
1 1
2 2
3 1
4 3
5 3
6 3
7 1
8 2
9 3
10 2
11 4
12 1
13 3
14 4
15 2
16 4
17 3
18 1
19 1
20 2
21 1
22 4
23 2
24 1
25 1
26 4
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